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B.Com. (Part-II)

Suppl. EXAMINATION, 2021
(Group-II : Compulsory)

COST ACCOUNTING
Paper First
Time : Three hours Maximum Marks : 75
qAre— g grg gt & I QT | E 3HIE T T T FHAT
ST &1 T 7ot @ 31k qHT &

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

sHIE—1
Unit-1
1. (31) @I @ik T 37 UG Zqehl TS Bl Td8T | 7%
Explain Cost accounting and its limitations.
@ ,9,9 (A, B,C) [a9auer &l 9T | 7%
Explain A, B, C Analysis.
34T
OR

[P.T.O.]
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frfafaa faeRor & S9ad 2017 @ 9RIF SEd I
sfd & gl & e g e gu w2t @
13U~ 15
From the following particulars prepare store ledger
account for the month of January 2017 showing
materials issue prices on weighted average methods :

[l giftaat NG IREUEE
(Receipts of Materials) (Issue of Materials)
fafr | sear |« fafr | sorgat

(Date) (Units) (Rate) (Date) (Units)

)

S0 1 500 2 S0 1 400
"10 200 3 "15 100
"18 400 4 "22 200
"28 300 5 "31 300

29  [10 units returned, issued on 15 January]

15 et a6t forffer 10 gebreat amas 1)
30 Tl Eieh LT % SR 2 T AU F 9l
T |
2 Tonnes materials loss was revealed on January 30,
during stock verification.

§DIE-2

Unit-2

2. et e fafies & & &ar fawmr P ud Q ¥ 1 fed

qafera IuRegdl @1 arT 30,000 9T TE 20,000 T



[3] ED-2025
2 | ot oo T anforenT & o ™ s |
fararie gfagd ster o &l

S 9 A, B td C & &a SUR&Ed &l 0T
FHINTT | T8 A o4 foh fraro & qd S fawmm A, B
3R C 1 IR HAM: 40,000 F, 45,000 T UG
35,000 T4 2|

Popli Company Limited has two service departments
with respective totals of Rs. 30,000 and Rs. 20,000 at
overhead to be opportioned on inter service
departmental basis of percentage given in the chart
below :

Find out (Calculate) total overhead of Production
Department A, B and C assuming the total of
Production Department A, B and C being Rs. 40,000,
Rs. 45,000 and Rs. 35,000 respectively before
distribution :

I — ERICGRGGIR Aar faurT
(Production (Service
(Department) Department) Denpt.)
A B C P Q
P 30% 40% 20% — 10%
Q 30% 30% 20% 20% —
OBquIrQhaqeaqd ((gg)) 40,000 | 45,000 | 35,000 | 30,000 | 20,000
311
OR
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(31) T AT ST FE G9Y %1 THAT | 7%

(@)

(1)

Explain Normal and Abnormal Idle Time.
TR FAigeR 1A AT X AISTHT bl FHSATET | 7%
Explain Taylor’s Differential Piece Rate Plan.

THIE—3

Unit-3

U HFHT ! GEdehl § o T 31 9 2017 &1 g9
& o e 2% & st Fre e R @ S
T JAR BT | ST 1 i T Hifoe ud
[ECCICEIEU 15
From the following particulars relating to a contract,
extracted from the books of a company for the year
ended on 31 March 2017. Prepare Contract Account.

Calculate Work uncertified and also prepare Balance
Sheet.

3
it @l (Material assured) 72,000
7o (Wages) 40,000
wie (Plant) 60,000
iereRt @ aa (Supervisor's salary) 6,000
fafger-=ra (Sundry Expenses) 17,200

S W M 01.10.2016 T I &3 |
(The work of contract commenced on 01.10.2016)



)

€)

(4)

©)
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31 91 2017 % U A< Hl Aol qdT Uk HIE &
fietnl T da= <A1 (31Ew) @t o1 (The wages of
workers for a week and Salary of Supervisor’s for
one man were (unpaid) due on 31st March, 2017.)
FEOAT AT W 10% Ffqad & @ F 219 FHred 2|
(The company writes off depreciation on plant @
10% per annum).

31 AT 2017 T 3T & T AT BT g 3400 T
qr |

(The value of material at site on 31st March 2017 was
T 3400)

ww?z,oo,ooommgmwawm

fobmg SlfR ERT &aa < 1,20,000 T HRE YA
fopam T ar | f5r| & 90,000 Feha TS &l bl &7 |

(Contract price was ¥ 2,00,000, ; of which was

completed but only ¥ 1,20,000 was works certified by
the engineer 50 fan; Rs. 90,000 has so far been paid
on account.)

Jrerar
OR

e g (Mfaer gw) #&n &2 FE@ g & 1o &

fopanfafer 1 wwemey | ffaer @ o § e foR-feee

feigatl WX e dae
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What is Quotation Price (Tender Price) ? Discuss the
process of calculating quotation price ? What points
will you take into consideration in calculating
quotation?

SHIS—4

Unit—4
U EYIE HFET Uh <h (9! &9dT 5 2 8, &l
frfafad fereror a2 — 10
o AR T 90,000
SRRIECECICECAR] 10 e

. 35

3o Td g%%qaf;
T T STARET % 500 gfoHre
JTeAF BT daT 3 500 yfqHre
FAML BT I 3 250 yfcmre
T T 4800 yfcast
God T 2400 yftad
e =g 3 4800 yfcart

A transport company supplies the following
information in respect of a trucked of 5 tonne capacity:

Cost of Truck Z 90,000
Expected Life 10 Years
Diesel and Oil 3 5 per trip each way
Repairs and Maintenance T 500 per month
Drivers Salary 3 500 per month




(@)
(i)

(@)
(i)

(D

[7] ED-2025
Cleaner’s Salary % 250 per month
Insurance 3 4800 per annum
Tax T 2400 per annum
Supervision charges 3 4800 per annum

2 STEX § I ATl & 9 o Sffdl & forgent g 50 Hid & |
e A AW U HTST IOF &aT 1 9T &l Ardl 8, died
I TST &THAT 1 20% & o o7 &, a8 A g0 R
oo Sfaa |E | 25 o "aar & S s —

gfd < Hid &l IRAas aed ud

I HFET A W 50% @ I AT el & af gid
g (fgu) W 9fq 257 & <X AT HEM?

The truck carries goods to and from city covering a
distance of 50 miles away. Outward trip freight is
available to the extent of full capacity and on return
20% of capacity.

Assuming that the truck runs on a average 25 days in
a month : work out :
Operating cost per tonne mile and
Rate per tonne per trip that the company should
charge if a profit of 50% on freight to be earned.

32 4qT

OR

feoqoft fafau— (@ ) 5x3
Write short notes : (Any three)
T T T &9
(Normal and Abnormal Wastage)
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2)
)
(4)

(1
)
3)

(1)
2)
€)
(4)

(1)

2)

@M 99d (Abnormal effectiveness)

3IUrETE (Bye Product)
3= gfehar g (Inter Process Transfer)
PS5
Unit-5
=1 gammt weh ruT | Heferd g— 15
The following informations are concerned with a
company :
FL&T HHT Surd (Margin of safety ratio) 20%
WY HIAT AT (Profit volume ratio) 40%
feer @A (Fixed Costs) Rs. 1,50,000
T I —
Find out :
IS 1%!_3’ (Break Even Point)

9 & T aredfas fasa (Actual Sales for the year)
a9 & forw @y (Profit for the year)
9 % fore gRadHsiir @ (Variable costs for the year)

34T

OR

TSI W@ihd & aEidl &l adey |
Discuss the principles of Integrated Accounting.
TH =9 % &l Bl IA1LT A A1 @l § gt T2l
ford ST 22
Give such expenditure items which are not shown in
Cost Accounts.



